- ILC 250 with ISR / BS

. Pol(et,e) = (+0.8,-0.3) : £ = 900 [fb~] ILD work in progress

Signal Entries

Mn=85 Mn=95 Mn=100 Mn=110 Mn=120
No cut 48 48 39 19 3
€iso #=2 && Yiso #=0
&& iso #=0 10 6 13 6 1

Problem: lose many isolated electron in the point of precut

w0 MVA cut 0.5 (default) - 0
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Signal electron Not signal electron
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MVA

MVA > 0.05 && €jso # >= 2

MVA cut O * Choose best electrons pair by two
highest MVA
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OMN =95 GeV event has a problem. (Data empty)

[ Reproducing backgrounds were already done
(MVA = 0.05)
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